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Section : Mental Ability

Y Rrrafafla sEer # mETer oqeg AT g? Queston ID : 16794315347

Ans

M-S X.'B, E;?
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a2 8}_131?% H Jvw == 'gﬁ'l Question ID : 16794315330

Ans
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Q.3

Ans

81'@'6“ H vy R ﬂ'ﬁ'l Question ID : 16794315331

X
O>» OW

Q.4

Question ID : 16794315329
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Ans 1.

I

x (L ]

Q.5

81'@3“ ﬁ' HITAT 2Wee, FAT g’lan ? Question ID : 16794315346

4, 16, 36, 64, 100
Ans X1 149

X 2153

X3 162

v 144

Q.6 Archana is sister of Radha. How is Radhas mother’s sister r .
uestion ID : 16794315340

Ans X 1. Grand mother
< 2 Mother
v 3 Aunt
X+ Sister

Q7 ~ L3
orear & fawH oreg T Question ID : 16794315344

Ans x1m%ﬂ
Xz'gﬂztﬁ
v arT : aREse

X4'ﬂ13:'192ﬂ'

Q.8 M arEd U T ¥ GHTE ¥ SR agHT A @ I I HTH WerhT F Fw o fhan 5@
By ¥ et ¥ & gaw 0T e F 2 Question ID : 16794315336

Ans x1.
Y SATAFNT F 3HF AG-RTr & eaa § A’



X ? gre @ ¥ e 3@ s
X sgfriim g e

‘,4.
HFTF T AT A TT T T SUITAT FL/3TT TEIam L

Q.9 e & WaEs TEd w5t AR BT 7T et # 3w &

,;n“%“mm

7 71 &7 37 Afpemit ¥ T § O e e @ e S St w0
Ans ¢14

X210

X6

X412

Question ID : 16794315339

0 st @ Rww gew Ta

Ans 71100
X>8:128
X% 12 : 288
X4 6:72

Question ID : 16794315345

QM Fg fER @ | 9Ret o @ Atsr rar € ar Yt Sar e e |
|

O,
@

X

Question D : 16794315337

Ans 1. . =
Of =
x ."{"’

Q.12 A 3R B & T4 37 1 3T 5 : 4 ¥ AZ A, B I 3 W s &, & 3 Wer a1 A #R B 3w
T AT FAT E?

Ans x1. 2 -
V6
X34
xX*+8

W d o =

Question ID : 16794315343

Q.13




ﬁ f ﬁ' # m %Q' T ﬁ FE ﬁ? EFT aa_ll Question ID : 16794315334

M

Ans 1.
O
< |
2.
n}
x [E
C
3.
x 1K
4.
v | M
Q.14 m Ry &y ;m-| Question ID : 16794315332

NS
A B & D
Ans x1.
XZ.
J3.
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Q.15 Inagroup of donkey and ducks, the number of legs are 16 more than twice of the heads. Find the number of donkeys.
Question ID : 16794315342

Ans x1. 7
v3
<310
X446

Q16 9w, oz ¥ 3 THR ¥ TEOT ¥ AW gt PEATRT ¥ TR 7

Question ID : 16794315328

Ans x1. @a,
X* s
X 3 o dAeh
vioaFEs

Q.17 News program always have - Identify the best option that suits the statement. .
Question ID : 16794315338




Ans X 1. Advertisement
v 2 News
X 3 Jokes
X 4 Cartoon

Q.18 3R + & 3 -, x F AT +, = F HF +, 3 - F ;ST x F, @ 320 x 4 - 7 + 20 38 F AT FA
¥ Question ID : 16794315341

Ans l'l. 578
X % 582
X< % 585
< * 600

Q.19 Fr=ffa of s 2015-2016 & 7% & MAT XYZ" 7w # TRt At wrw & AT e B TR F
& T R §1 &k S S nage St A A /v v et & 3w &) Question ID : 16794315333
“XYZ' 7w # 3T §F oww 23428 T ¥

201516 F AW AYZ T A M N erm K IR et At P

Ans o1 8199.8 T
X% 8118.99 &1
< % 4685.6 T
X * 70284 T

] -y e W O ., - -

Q.20 77 Rzdw ww 3= A W A gEE X 0% Remm kA Pm AR A v e wm R
wEE ¥ l Question [D : 16794315335

() 19 # 26 ¥ & g T & FES F o W
(i) 25 W F 40 FF F 3Y T & R gat =

(iii)soma‘hmm;qtmm#

(v) gfemen awt & Sffw fmaEed dfewt =

(v) Rzaw we & AR & wn A S @)
MGWMiIiMmetwimgvmad d a
[TY wTN TRR 1 250004 & MR & & fAv . furem & e o

Ans - X1 % 1500/-
X % % 2500/-
v * % 3500/-
X * % 500/-

Section : General Awareness

O Fenferr S TS F A F= g2 Question ID : 16794315351

Ans  of 1 ISTAIER
XZ.ga;R-
X° argR
X sreraTér

Q.2 R AGHA (FETIF.) T TR TG Y A T F-18 (F-18) F F e
il Question ID : 16794315365

Ans x1. Gﬁﬁﬁr



v sitefer
X wgwa 1w At

X wa
Q3 37 oot & TR F 3GER AT AR e A Question ID : 16794315348
Ans J1. 24 a_

X% 26 F

X253

X*233
Q4 el e 7 rRRE § @ R ger O F Rewe a2 Question ID : 16794315359
Ans X1 T ATETH

v 2 FUF

X ° Ferwer

X" gl
S v W g 8, TE o F Rw Uew @ wEa ¥ Question ID : 16794315358
Ans x1. m q_a_’r

X 3UTEe g

v’ FleH
X v dddad

Q.6

Ans

BN TFR & g & F A Fgwdr e F oy frar &, S v gaminer st e
aEd ot e s

v'2FE
X% 1 70T
X°* 3 a0z
X" 15 Fz

Question ID

116794315366

Q7

Ans

Ffaet & g &1 TER O T () REfea B g S 9y e TR T O
THE 9% g7 AT 8, R 78 g B waw o e P asg aw T

X" 10 Rfeme
X% 30 Rl
X * 50 faferaer
v 60 faferme

Question ID

116794315367

Q.8

Ans

'R TR RE TeT & = afEmsEr 82

Question ID

116794315352




v’ TEE
X aer gaar
X aftreres
x4. ﬁ

Q.9

Ans

SR B & S AT AT Aok waedr S gEr Ffafise wwar &2

XTamr IX A
X 2 g IV
X3 gmer VI
v 4 oamr IV A

Question ID :

16794315354

Q.10

Ans

T & AT AEET F aw ¥ o Raw S

X" 15 ar
X% 12ar
X*10ar
CAREE |

Question ID :

16794315362

Q.1

Ans

o g Fvew e & @ #iF @ gEefew/ et 85 & dF § R 2018 F 39 T
T 211,336 FU3 99 H e o 6 sTa= H DT 547 T §2

X" gome 3T 3%
X7 3y &F

- ad
x* EES

Question ID :

16794315357

Q.12

Ans

rw faue eltve & ST el arer 1 el sEEr F 158 & oo & w9 # anfder R mr
o

X" 19 a1 wfure Hetraer ffee, 1966
X% 24 a7 Sfens weituer s, 1971
X7 26 a1 wfers e fRfew, 1971
v 21 o afue detue s, 1967

Question ID :

16794315355

Q.13

Ans

Who invented the Sulfa drugs?

& ' Roland Ross
v 2 Gerhard Domagk
< 3 Robert Koch
X * F.G. Hopkins

Question ID :

16794315363

Q.14

T FE TS (S.UA..) F AT FE U 82

Question ID :

16794315364




Ans x1. aga_
v’ o
X g
X guew

Q.15 The International Monetary Fund (IMF) has cut India's growth forecast for 2018 from 7.4% to
Question ID : 16794315356

Ans X1 719
X 2 7.0%
X3 6.7%
v+ 7.3%

Q.16 e & ¥ Sfum &1 #ia @ sede 77 39T a1 § B ToT Aoy F e smshfaw
AN Y GRS F F TAH FEM? Question ID : 16794315353

i e 43
X gete 38
X’ etT 39
X gete 41

QIT arfe feeh ter L &1 Fa@ Aot Hfe/aeg e sien o Question ID - 16794315350
Yo =)= > ]
Ans 1.
v ' T
X7 Ty
5 gy
X g

Q18 3 '
i Sfer #r gege S el M & g A ey F oW 77 F A e §2 Question ID : 16794315349

"o X e P
X7 s e
X sere fEe
v gfaes faEE

Q.19 -
2018 faraar & o I e [ERR o ferdy v fear amr ar? Question ID : 16794315361

Ans X v RreaE
X % ofer Qerar
X3'§$T3ﬁ'%$
v R e




AN g7 T §RT F TH IR aeF T

Ans

X R
XZ.m
X3 e
v g

Section : Arithmetic Ability

Q.1

Ans

Hier 3R T & T g F a= F 80% WA @ ¥ $W A uig & 50 WA H, 75% W F WA
st arg w & e fraeh ol fom$ sl afee?

X" 25¢g
x2. 5 g
13.1—0

3

4. 16
oK =

3

l

Question ID : 16794315360

Question ID : 16794315373

Q.2

Ans

(78)3-(56)3—(12)3-78x36X56
(7.8)2—(5.6)2—(1.2)2+7.8X5.6—5.6X1.2+1.2X7.8

X110
210000
v %1000
<+ 100

FT AT &

Q.3

Ans

24800 W 2 ISt % THgfE =0T R FURVT 2= & A AW 2 30.72

v 8%
X2 7%
X3 75%
X*10%

Question ID : 16794315368

uestion ID : 16794315378

Q4

Ans

A 3t B F F1 T Ear w12 B 3k 18 fm #F qw w v €1 3 v @y e R R,
A 5o et % a1g A o o R@m AR B ¥ Av FW 8 R F qu X e A F B R F e

oIE?

X3
v
X6
X+ 5

Question ID : 16794315384

Q.5

Ans

T SATFT ek HEE 9 & AT 0.4 Fr 3R F W 8% WY I & WUROT ST KT A B
mm4mmmxmﬁ?84zsmwﬁm,amma{WMW

X 1% 24200
v 2 % 24500
X3 % 24000

Question ID : 16794315377




X * % 23800

Q6
1 ;1 FT AT FEF T T Question ID : 16794315369
1+

3. 25
14
24
11

Q.7 @R 2979 W 3 T 48 6 F U FA B G A Feha &, A 4 9 AN 2 w= T o F 5w
QU W &N Question ID : 16794315383

Ans x1. 16
V718
X320
X414

Q.8 & wEmsit @ Ageaw FAEEH (HCF) AR weds GAEe (LCM) %aer: 15 3R 480 ¥ 3% =gt |
1 3 T { Question ID : 16794315370

Ans 1. 31

280
24
T adda

311
160

S |
32

Q.9 v uFm F FwErs e F AT 23 om § R gHF BFUT 3V21 cm @1 oG F T FAg SFHA
T 2 Question ID : 16794315380

Ans o1 340 cm?
< 2% 350 cm?
X 3 375 cm?
X% 360 cm?

Q.10 =R 3 # Tecaw TEA F IE oA 77§ Y 12, 28 3k 33 ¥ g = | 5@F A
# AT 8 I & Question ID : 16794315371

Ans x1. 20
v 23
X322



x4 21

Q.11 T #r o7 12 cm, 35 cm 3R 37 cm &1 FRI0T F7 T BT MY T FwT R

(Z2TTeT F TH TU I TEN)?

v 114 cm
X2 115 cm
X%12 cm

X*11.6 cm

Ans

Question ID : 16794315379

Q12 3pra:b=4:53b:c=3:8%Far3a: 4b: 6¢c HrEF T &

Ans

x1.
JZ.
x3.
x4.

: 20
: 20
10
10

5
g z
o

W o1 o1 W

5 :

Question ID : 16794315372

Q.13 e el el SEgHt Y o qeT F 40% F R FRAT ¥ TE MO T H 50% 3 Ao

W, 20% TehF 20% Te W AN AW F 3T 7T ¥ 26% Te W AT §1 SHA FHT A Sl Fw
&

V' 23.9%
X2 23.6%
X3 23.4%
X * 23.8%

Ans

Q.14 40 TTgT d=e T AT @ 4 TEGEHT AT T B e ¥ SER o dfee F97 £2

Ans _ 1. 100
X e
9 Y%
2. 96
K =0
11/0
v 10%
4100
Fae el |
X 11&

Question ID : 16794315376

I TN SESNES SN E S .

Question ID : 16794315375

adda

Q.15 e wfem F 400 ot & B, 75% o7 st F 3w 65% o AT F sechor gl AR A vt F
18%mmﬁ¢,aﬁﬁwﬁmﬁmmﬁ§@

v ' 232
X2 196
X3 204
X+ 168

Ans

Question ID : 16794315374

Q.16 o ool & v & i 7 kmihr 1 75 2 W F owr & wfage 45 B o wE ¥ o oo A
3R e Rig W ol Foe §1 awr f Ay kmvhr F T 2

X3
X215
X325

Ans

Question ID : 16794315382




v 2

Q.17 = &= =T 3g0a ¥ 80 km/hr Y itaa a1y & Toreh ¥, et sgw & @Y, T 60 km/hr Y Ay ¥
Fordr ¥ 3 iy wer situae frae fee s 32

Question ID : 16794315381

Ans x1. 12
v 3
X310
X*15

Comprehension:

farafaf@a wrolt 6 gF=t A, B, C, D 3R E & a5 &r

TEar $r T gardr g1 arot 9 3k R gt
FT 3] &

¥« | A| B | c | D|E

S9 AT BF | 850 | 760 | 1380 | 820 | X

SubQuestion No : 18

U gt A #R B &1 g Ry gFET A, B, C 3R D &

Question ID : 16794315387

For Tt @1 e wfoea § (v oo T a&
T@)?

Ans x1. 38%
X2 41.8%

X3 42.6%
v 424%

Comprehension:
farafofea wwofr 5 g#=t A, B, C, D 3R E & 35 &
e Fr G gardr g1 IRv 9¢ iR Tetataa weat
& 3eeR <l

o« | A| B | c | D|E

S AT BT | gg0 | 760 | 1380 | 820 | X

SubQuestion No : 19

% E wfea ofy sitwa Ry 840 o, & gF E #F 3 Ry
T o

Question ID : 16794315386

Ans X1 410
X2 420
X % 390
v * 380




Comprehension:
faeafaf@a wrolt 6 gF=t A, B, C, D 3R E # a5 &r
TEar # & gardr g1 arelt 98 R eafaf@a weat
F 3R &l

¥« | A|l B | c | D|E

S AT BT | gg0 | 760 | 1380 | 820 | X

SubQuestion No : 20

de ﬂ‘ﬁ:ﬂ'{ﬁ}? HTHRT TR-AE F T F & % off, A o Question ID : 16794315388
f& g@a E garr o= a1 dat f Hor wear 380 g ar
T B F R gy arer &% 7 FE4T FoT AeveaH
qUith & AT grem?

Ans x1. 680
X% 62°
v 85°
X+ 66°

Section : General English

a1 p
He plays soccersowell. Question ID : 16794315395

( Provide the appropriate question tag)
Ans - X1 Isn't he?
X 2 Aren’t he?

v 3 Doesn’t he?

7]

X 4 Can’t he?
Q.2 3 ;
Hewas __ me in the queue. Question ID : 16794315401
(Choose the correct preposition)

Ans o 1 behind
X 2 from
< 3 About
X 4 inside

as Raj. no one was present in the room. Question ID : 16794315402

(Choose the correct preposition)
Ans X 1. Below

X 2 Within

X 3 Beside

v % Besides

Q4 [ ]




Ans

« Will it rain tOdﬂY”, the tourist said. I Question ID : 16794315394

The tourist (Reported Speech would be)
' enquired whether it would rain that day.
X % enquired whether it rains that day.
X 3 enquired whether it could rain that day.
X * enquired whether it would rain today.

Q.5

Ans

he reforms himself, no one is going to trust him. (Provide the appropriate conjunction)

Question ID : 16794315403

v ' Unless
X< 2 Either

X 3 Despite
X 4 Nor

Q.6

Ans

Which sentence makes most sense? Question D : 16794315391

x1.

Since he's loss his money. he couldn't go to the restaurant.

x2.

Since he's lost his money, he go to the restaurant.

x3.

Since he's lost he money, he couldn't got to the restaurant.

"4.

Since he's lost his money, he couldn’t go to the restaurant.

Q.7

Ans

One of the options is a complete sentenceatd uestionID - 16794315389
X " Folk tales.

v 2
There’s always light at the end of the tunnel.

& 3 The bird on the tree.
X * Rice and Curry.

Q.8

Ans

The engineer designed a new software for retailers.

S ; Z Question ID : 16794315397
(Provide the appropriate synonym for the underlined word)

X ' Renovated
v 7 Developed
X 3 Reasoned
X % Prevented

Q.9

Ans

He has his goals. Question ID : 16794315393

' ! to accomplish
X 2 accomplishing
X 3 to be accomplish



X * to accomplishing

When we meet him next Monday at 4 PM he

Question ID : 16794315392

Ans X1 will be preparing to leaving Hyderabad.
< 2 will be prepare to leave Hyderabad.
X 3 will preparing to leave Hyderabad.
« * will be preparing to leave Hyderabad.
Q.11 Arrange parts of the sentence in meaningful and grammatically correct order.

A. Home food is certainly the best option to eat hygienic food.
B. Therefore. occasionally eating out is advisable, not regularly.
C. However, hygienic food is not served at every eatery.

D. Eating out has become a common practice nowadays.

E. To conclude, those who eat out on a regular basis are at risk of various ailments.

Question ID : 16794315398

Ans - X 1. CDABC
v 2 DCABE
X 3 EDCAB
X 4 BACDE
Q.12

The new teacher was welcomed by a boisterous crowd.
(Provide the appropriate antonym for the underlined word)

Question ID : 16794315399

Ans X 1. Brisk
X 2 Huge
V'3 Silent
X 4 Posthaste
Q.13

Ans

(Provide the appropriate synonym for the und
< ! Heightened a
X 2 Paused
X 3 concealed
v * exhibited

The Police displayed the items retrieved from the robber. I

Question ID : 16794315396

Q.14

People praise him for his honesty.
(Provide the appropriate antonym for the underlined word)

Question ID : 16794315400

Ans X1 Intricate
< 2 Rough
v % deceit
X % Stingy
Q.15 Choose a suitable beginning for this sentence. . the attendance in schools didn’t drop.
Question ID : 16794315390
Ans

X ' In spite heavy rains
' % Despite heavy rains
< 3 Although heavy rains
X * And heavy rains




Comprehension:

Read the following passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather
stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming. said that there is
little doubt in his mind the phenomenon of rising land
temperatures is real. Over the past two years. he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land
sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and Dawvid Koch.

"When we began our study. we felt that sceptics had raised

legitimate issues. and we didn't know what we'd fihd. Ofir
results turmed out to be close to those p 1 ﬁ a

groups. We think that means that thos
been very careful m their work. despite thewr mability to
convince some sceptics of that." Professor Muller said.

SubQuestion No : 16

Q-1 The author says that the debate should end. The debate he is
referring to is:

Question ID : 16794315405

Ans x1.

the debate over whether global warming is temporary.
vz

the debate over whether global warming is real.
x 3.

the debate over whether global warming is surrealism or not.
x 4.

the debate over whether global warming is fickle.

Comprehension:




Read the following passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming. said that there is
little doubt i his mind the phenomenon of rismg land
temperatures is real. Over the past two years, he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land
sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and David Koch.

"When we began our study. we felt that scepties had raised
legitimate 1ssues. and we didn't know what we'd find. Our

results turned out to be close to those published by priox
groups. We think that means that those
been very careful m their work. despit 1

convince some sceptics of that." Professor Muller said.

SubQuestion No : 17

Q7 ‘Exhaustive’ in the context f the passage means: it T8 G BTG

Ans X 1- Compact
X 2 concept
X 3 competitive

v % complete

Comprehension:



Read the following passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming. said that there is
little doubt i his mind the phenomenon of rismg land
temperatures is real. Over the past two years, he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land
sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and David Koch.

"When we began our study. we felt that scepties had raised
legitimate 1ssues. and we didn't know what we'd find. Our

results turned out to be close to those published by priox
groups. We think that means that those
been very careful m their work. despit 1

convince some sceptics of that." Professor Muller said.

SubQuestion No : 18

%" The conclusion of Richard Muller’s analysis is:

Question ID : 16794315409

Ans x 1.
Prior analysts had truly been very careless in their work

v
Prior analysts had truly been very careful in their work

x 3.
Prior analysts had truly been very independent in their work

x 4.

Prior analysts had truly been very cared for in their work

Comprehension:




Read the following passage and answer the questions that
follow.

A climate sceptic has said that it is now time to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather

stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming. said that there is
little doubt i his mind the phenomenon of rismg land
temperatures is real. Over the past two years, he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land
sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and David Koch.

"When we began our study. we felt that scepties had raised
legitimate 1ssues. and we didn't know what we'd find. Our

results turned out to be close to those published by priox
groups. We think that means that those
been very careful m their work. despit 1

convince some sceptics of that." Professor Muller said.

SubQuestion No : 19

%" ‘BEST" was set up for this purpose:

Question ID : 16794315407

Ans x1.

test the findings of other factors related to global warming.
x 2.

test the findings of other students related to global warming.
x 3.

test the findings of other opinions related to global warming.
v &

test the findings of other studies related to global warming.

Comprehension:




Read the following passage and answer the questions that
follow.

A climate sceptic has said that it 1s now tune to end the
debate over whether global warming is real after the most
defmitive study mto temperature data gathered by weather
stations over the past half-century.

Professor Richard Muller. a physicist at the University of
California. Berkeley. who has been an outspoken critic of
the science underpmning global warming, said that there is
little doubt i his mind the phenomenon of rismg land
temperatures is real. Over the past two years, he has chawred
a group of scientists who have carried out an exhaustive
analysis of more than 1.6 billion temperature recordings
collected from more than 39.000 weather stations at land
sites around the world.

The Berkeley Earth Surface Temperature (Best) study was
set up to test the fmdings of other studies and was part-
funded by US billionaire brothers Charles and David Koch.

"When we began our study. we felt that scepties had raised
legitimate issues. and we didn't know what we'd find. Our

results turned out to be close to those published by priox
groups. We think that means that those
been very careful m their work. despit 1

convince some sceptics of that." Professor Muller said.

SubQuestion No : 20

Q.2 At the beginning of the last paragraph, the author mentions that his
0 team was about the findings.

Question ID : 16794315408

Ans X' 1. Unreal
X 2 Uncharacteristic
X 3 Unfriendly

4 Unsure

Section : General Hindi

O oy @ goTgeaRh 6 L

Question ID : 16794315424

Ans x1. m
X2 e
X femady




v aEg

Q2 eER & T W OF H T A g F @ whar ¥?

Question ID : 16794315410
Ans X1. m
2
v Far
X% g
x4 5
Q.3
JcTH A Hi-AT %’7 Question D : 16794315420
Ans x 1. m
v 2 3T
X g
X4 SR
Q4 - ‘ :
FOd U H HiI-4r g %"7 Question ID : 16794315415
Ans "?1. JqUT

X7 3rardy
X g

4.
G

Q5 F 3k A oS, @ & o ©@ BN aEw & FA-a F Question 1D
Ans X1. t!'\Ui' 81@' a

X* gfesg
v 3T FEE
X & 3T 8

116794315413

Q.6

FIT-TT 28 3RS 87
Ans x1. ﬁgﬂ
X giaa

v s
X 4 NATETF

Question ID

116794315412

7 aiforpar & T ol B
Ans 11. Hol
X7 At

Question ID

116794315418




X st
X" s

Q.8

Ans

‘aE! T A g1’ T H [@ifFa € &
X " TevaTTE gda

v sraETae @

X 7 aorarere faersor

X" geeehrs auT

Question ID :

16794315419

Q.9

Ans

F TUTET FF FETI THT F (@S 0 F TAFT &

v g
X > deqey
X’ g
x4. 5

Question ID :

16794315416

Q.10

Ans

T Wkt geAa & e aenfea &
X" gt T e et Iy J
X % 3T T Geled. ST

v’ sita & 3 e & R
e 3103

Q.11

Ans

AT WE AT TR H A &
v g

X? amemd afda @

X * gt wae

X" FiEwe a1 W &

Question ID :

16794315428

Question ID :

16794315427

Q.12

Ans

‘Ig WHAR F AN TFT H FRF ¢
X" g

v HRERE

X

X 4 3aeTe

Question ID :

16794315414

Q.13

TET UusE FlA-aT &7

Question ID :

16794315421




Ans x1. TFg
JZ. W
X% g
x4 ST

Q.14 &
HQF CIER!) B‘I’ﬁ'@'l Question ID : 16794315429

M 3 wEt @ ger Sfe
X* 3 oo F S

X gl Ages @ 2
X" & arpem & &% o

Q.15 g
HATIIT=T dTell dTeFd m’ﬁ'ﬂ'l Question ID : 16794315426

Ans

X" g S FH FT A
X sirsra a=1 & T&fese
V'3 S, IeT S|

X" areg-vere 3=d a9 T

Q16 ot T a7 F FH HT A1 3T AT TF U= B b 'l— - -Qu_esti(; - |

Ans ,1. ﬁ?—lﬁﬁ?
o adda
X 3R

XY age aehr

Q.17

TR e H 3T ¢ Question ID : 16794315417

Ans x1. kg
X2q
X 5 gear
v ur

Q.18
‘TTOT A FT TAIH B9 Question ID : 16794315423

Ans x1. m
X 2 3eTag
v afeeoT
X% worr

Question ID : 16794315425




Fi emﬂ:mgwagaw#ﬂwwaﬁm

FET AT W Ffaar o = 2
Ans x1. m

X7 Ffaar

v

x4 oy

A0 =z gt ¥ g1 HIF-FT JoT 71T 22 Question ID : 16794315411

Ans x1.
X2
X3
',4.

4 2 g 3

Section : Subject Related

Q1 A chord of a circle subtends an angle 60 ° at the centre of the circle. If the length of the chord is 10 cm. Then the area of
the major segment is (Given 70 = 3.14 and v/3 = 1.732) Question ID : 16794315448

Ans o 1. 335 cm?
V% 305 cm?
X 205 cm?
X% 310 cm?

a2 (0.11 + 0.22) X 3 is equal to: uestion 1D : 16794315431

Ans x1. 1.9
X23
v
X403

Q.3 < Seen
Euclid’s Postulate III is: Question ID : 16794315442

Ans J1.

A circle can be drawn with any centre any radius

X2
A straight line may be drawn from any point to any other point

x3.

A terminal line can be produced indefinitely

< % All right angles are equal to one another

Q.4 : 5 7 :
e 3er former & 30 ¥ 3k 5 o - N # @ A & Question ID : 16794315432

Ans 1. 21
X =

30



> 2 18
y

30

3. 19
v =

30

4. 20
r ==

30

Q.5 3215 Fryiy R i
g F;AIH FA T F U 2 E E m %9 Question ID : 16794315439

Ans x1. 35
X230
v 28
X4+ 33

Q.6 fw=fafee R & ABCD & age{s €1 BEIIACBE, E X DC (3e71fee) & ¥ &er & 3K BC &7 O
fig W Fedr ¥ e #§ ¥ @@ 5ot Fi7 @ ? Question ID : 16794315443

JASEN

Ans X' ar (AAOC) = ar(ABOE)
X * ABEC AR &
X * ar (AABE) =-ar(AACE)
v * ar (AOAB) = ar(AOCE)

Q.7 Find the number of ways in which 8064 can be resolved as the product of two factors? o
Question ID : 16794315436

Ans x1. 26
X322

X4 20

Q.8 s & o Toafes &1 3T e ATl a1 20 AR 24 & TYAH FANEAE F AT
T & AfEe WO §| EHEE A H 5 Ee § AR o careud Y Question ID : 16794315435

5=1x5+0
29=24 x1+5
24=5x4+1

Ans x1.abc
v?bca
X*bac
X*cab

Q.9 x=3(n0d9), x =7 (mod 13) = g1 A & AT Nl TP THY 9] F | WA g &
Question ID : 16794315437

Ans X x =105 (mod 117)
X% x =103 (mod 117)
v ¥ x =111 (mod 117)
X% x =107 (mod 117)




Q.10 AT 7 B’Iﬁ' I aﬁm m TAHTT %: | Question ID : 16794315430

Ans x‘lqﬁm
X* quftes
X gpa wE&
v of@y g

Q.11 When 31513 and 14369 are divided by a certain three digit number, the remainders are equal. Find the remainder?
Question ID : 16794315441

Ans X1. 98
X205
V3 97
X 4 96

Q.12 Fr=fefda R & (T 78 31 AB 30 & R IA=a T W1 ¢ AW G, TG AWM G
C, AD 3R DC, gear #1 &Y S ¢ 3R BE 3R EC 37 ¢, #r a1 s §|  ADC + <BEC & @19 Question ID : 16794315445
AT F?

Ans x1. 600
<% 100°
J3. 90°
x4 120°

Q.13 9 ¥ YA W qeflT S X 7 & YA F N s B T F wA F 59
¥ da F e gE san? uestion ID : 16794315440
Ans X1 245

X2 246
V5 248
X4 247

Q.14 el :
T Uit T FE, ST 108 § A AR 108 F T 87 Question ID : 16794315438

Ans X’l. 18
X215
V317
X 36

Q.15 fw=fafa R PQ, BC 3k PQ & @AWIR & BC = 1:3| Afy fufsr ABC @1 8w 144 om? ¥,
ar AAPQ FT Srhe FT g ? Question ID : 16794315444

A 1.
"X 9em?



X% 48 cm?
v 16 cm?
X% 36 cm?

Q.16 PQ ar gt (S, 9em) AR (R, 4em) @ el W @ § S T W F AEY T F T AT B
TS PORS (cm? #) F 896 71 L2

Ans x1. 78
v 72
X% 65
X* 69

Question ID : 16794315447

W 2332 34+ Y500 =HF WET T
X 43

X* 3312

v 6

X324

Question ID : 16794315434

Q.18
2 1 1
(Bt vt ) & W &

Ans x1. 3‘/3
X 26

Question ID : 16794315433

X% 25
ol adddd

3

Q.19 =R &= FHach @eh W@T AD, BE 3t CF 7t et 4 & ol Rigat & dier smar & o Rode
Rom T HtHA B L= 2ol & A o e W, 2 e & e

FB 2 "bc 3’

& &
A 1.
ns J %
2.
X3
X1
4.
X3

Question ID : 16794315446

Q.20 = 3mFaweET (cuboid) Fr watE, e 3R TS @ AT 19 Fr ¥ 3 swer Reot 5VEon d, sHET
TaE ATEA E

Ans X 250 cm?
X% 275 cm?
v 236 cm?
X" 361 cm?

Question ID : 16794315449




Section : Subject Related

Q1 g (a, bo), (b, c+a), (c, a+b) # ¥ R g 1 &vwat & Question ID : 16794315466

Ans X' ab + bc + ca
o
X>*a+b+c
v

Q.2 7w 3 x 3Ry W aahE TEE S I o3 sk O gy S ok g
o = ey 2 snay Foszy Question ID : 16794315464

1. 49
v =

58

X* gH w FE
XS.E

58

4 41
y G

58

Q.3 i o i 1
3P 3sin 6+ 5cosf =5, d@ 5sind—3cosf F AT & ST & Question ID : 16794315459

Ans x1. sﬂﬁ@'ﬂéﬂﬁ
V23
X35
X4

Q.4 If cfyerch @deRor x2—xln (@2 —3a+2)+ a2—-4=0 F T

Question ID : 16794315456

Ans X1 a€e(-2,2)
V2 a€e(—»n,—2) U (2 x)
X3 a€e(=»1) U2 x)
X*ae(=21)

Q.5 oY & = it S F AR T 42 em 3k 28 cm ¥ Ry A Fr IS 24 W, A D
TAEER TAE F &T6A A 2 Question ID : 16794315451

Ans . X' 2625 em?

V' 2750 cm?

X% 2675 cm?

X" 2725 cm?
8 3R cos25 +sin25 =k ¥ oY cos20 TEF T ¥ Question ID : 16794315460
Ans 1



x°
X -5
X' g @ P

|+
= Sl

Q.7 R A 3R B FAT: FAT (3.4) AR (5, -2) & g & 3 P v Rig ¥ S PA=PB 3R o =1
S %e APAB = 10 37 5% &, o P @ fadeis fig &

Question ID : 16794315467

Ans 1 (7,2) T (1,0)
X* z® @ FE
X% (7,4) 3T (13,2
X4 (2,7) T (4,13)

Q.8 m & A orEH BT 22 —3x+2m =0 F FHT x> —x+m =0 & T 1 A &

Question ID : 16794315454

Ans x1. 2, 0
X201

X g
v+ 0

Q9 aftaora? — 3|x|+2=0 ¥ areafew wama & gea ¥

Ans J1. 4
Xz

- -

Question 1D : 16794315457

X33
o dQdd

Q.10 ©s 6 Gz Ff&T A 7 9T § F 24 P 52 @ F N H F8 7 P07 3k 37F 3w F
A FIOT TH FOT § | T F e Brogd &

Question ID : 16794315465

Ans x1. sﬂﬁ'@'aﬂéﬂﬁ
X 2V3 ge

x> 83 we

2

v'6V3 ge

QM 3@ sinx = cos?x &, @ cosx (1 + cos?x) TTF TR &

Question ID : 16794315461

Ans x1. Sﬂﬁ'@'aﬂéa@'
X20
v 2
X4

Q.12

tan——tan——«/_tan— tana THF W ¢

Question ID : 16794315463




Ans x11
w2 1
X &
JB.\/g

X443

Q.13 S i
H RN tanA+sinA=m TUT tand—sinA=n % ar Question ID : 16794315462

Ans X’I. m2+n2=mn
X% m2 4+ n? =2mn
v m?—n2=4ymn
X*m?2—n?2= ymn

Q.14 32 cm 3Rk 515 9 cm =W F v uig AF Rreer ga ¥ ok TAF BT 2 om F wAW A a
s ¥ X e e T ST @ £ 7 Question ID : 16794315452

Ans X 1. 5D
v 72
X3 64
X% 48

Q.15 & wierER a0 FAe: 10.8 Wex 3K 50 Fex T W T | 37 AR T T AFTHA F
I & Question ID : 16794315453

ans X1 16:25
X24:3
v 09:25
X4+ 25:9

Q.16 o wagea BT 903 o= & W) &1 IR g7k MY F T By (o, 0105 (o, 3205 O v2) &
& wrot @ o ¥ Question ID : 16794315469

x oy 1
x2 ¥ 1
x3 y3 1

Ans x1. 3a4
JZ. E

4
XS. 4a4

X" g & Fg 7@

R &

Q.17 Iy gfemreh TR T FE x2+px+q=0tan30 M tan15 ¥ A 2+q—p 1 AT &
Question ID : 16794315458

Ans J1.
x2.
x3.
xX*0

= N W

Q.18 =iy (-4, 0) 3R (1, -1) &F 4 3FE a1 Py & ABeT & a7 MY &, o swRr AW MY W
Question ID : 16794315468



A 1 x+5y—4=0
X o ¥ a5 7
X*Bx+y+12=0
X4+y=x

Q19 3°R o,p TR (x—a) (x—b)+ c=0(c#0) & Faar & ar T
(x—c—a)(x—c—B)=c F E‘ﬁ?ﬁl’%

Are X' asR@+0)
X? a3kb
v? (a+c)3R(b+0)
X* (@a+b)3Rc

Question ID : 16794315455

Q.20 & st & fsam &7 3ar 2:3 § 3R 37 S F IO 503 ¥ 3 WA T A g

ans X1 27:20
X29:4
xX%4:9
v+ 20:27

Question ID : 16794315450

Section : Subject Related 1 M\ ILIN\NY
1 &z A, B 3R C areal® &9 ¥ 37 S §

P(A)=3x;1, P().L?)=1;Jr dna P
X % WA AT T FEHET Hare
Ans 1. 4 @
v [53
21 1
X 53
X% [0,1]
411 13
x sl

Question ID : 16794315488

Q2 ) ¥ E A & BT FASIOT 2x + 3y =2 FAT
m+2)x+@Cm+1Ny=2(m—1) ¥DPT 75 g TS &

Ans J1. 4
X225
X33
X4 2

Question ID : 16794315477

Q3 FrEfTa o # gA-FHEOT F AH 20— 5y <5 ¥

Ans

Question ID : 16794315480




X" @A 2x—5y=5
X*@maAFR 2x—5y=>5

v’ x@r W AR 38F FIW 2x—5y =5
X * x@r w3 3EF A 2x—5y =5

Q.4 APH S ,=pn? AN S,=pm?, TS, AP F Ig r & W7 F QAT &, & S, T TR P E:

Ans x1. (m+n)p2
JZ. p3
3. 7
p
X 5
X 4 mnp

Question ID : 16794315472

Q5 ¥ mw i ge G e difas e
x+y=2,kx+y=4, x+ky=5 FH ¥ &H TH g ¢

Ans x1. 3
X0
v
x4 2

Question ID : 16794315479

Q6 R x mmew 3 T DEEA AERSF GEOT &, A P(X—3|< 1) awmd
L

1

Ans .
v' i

X (@)e

4.3

r G
2

Question ID 16794315486

2
" dadd
929

Q7 3pr s, & F TES r & F T B AT § qw 2L o

S2r—S2r-1

Ave X1 243
V72 2r+1
X3 2r—-1
X4 4r+1

Question ID : 16794315473

Q.8 P (3, 1), Q (6 5 3R R(x y) & 3% § ¥ & F07 2 PRQ T FHHOT 3R &6 ARQP = 7 §,
@ o gyt HrE=m R &

Ans x1. 2
X2 4
v
X4

Question ID : 16794315470




Q9 spr ax+5-15 ('-|'2|T6x—%=14ETSﬂ',<'-ffp Fy=—px-2 a:rm;r%:l Question ID : 16794315478

y
Ans x1. 3
X4
x "
4
J4. 4
3
Q.10 o« a7 719 F IR 23 +ax? +3x—5 FM P +x%—dx—a agﬁ(x—ﬂﬂ fosnfaa gt =@
AN Tod BT ¥ Question ID : 16794315483
Ans J1. .
x2. it
X3%a=2
X¢a=1

Q.11 3w x @ HEd w7 AR T 9 F WY TF AT IERGH W A HR a=P(X 23) AP

(X1 <3 ) *=R & Question ID : 16794315485

Ans x1. a
X2 2a
vi1-2a
X*1-a

Q.12 o fywor #7 R Fns @ o ¥ O a5 l242x+3 Ear 3
T Fop T o2 e Quiestion (D : 16794315484

| S S -

Ans J1. (X+1)

X2 <41
adda

X*(x+2)

Q.13 th A - 3
T S e AR FRhe— S A s SR Question ID : 16794315471

Ans J1. 1
X4

G X v ImuTHS qUliE HEaqol W ¥ Question ID : 16794315487

x+1
P(X:x): Wﬂ x=0,1,2.....

0, otherwise

ar, X 7 Arey 3T JEI0T FAUL: §
Ans 1123311_4



X*23k2
X% 23k 3
X" 43Rk 2

Q15 Bl SR Question ID : 16794315489
PAUB)=1 PUANB) =] andP(D) =1, & A T s e A& & §1 &, e A sl B § SesttD el T S L

Ans J1. 4'
AT A TAA T ¥ HHEAT el &
x2.
AT & T FAEAT AT IREINF & T 3T
X R 3 =T 3R w=aw
X4.
AT & § THEAT § Afohed TaaT 76l &

Q16 3pw (2x—3) FTTF FRF & f()=2x3—x2+px+6, A p & AT & B o]

Ans x1. 3
X2 4
v 7
xX*3

Q17 nth 2y S@AT 3 + 10 + 17 + ... 363 + 65 + 67 + F g W&, A FAHE|

L

Question ID 16794315475

Ans ,1. 13

<59 adda

X+ 19

Q.18 mm &, S, #&r % 9ger n 9l & AT F AT PR S, =35, &, A S5, : S, F T E:
Question ID : 16794315474

Ans x1. 8
X210
x4
vie

Q1 gafreroit Y U 2x+ 4y =6 TUT 4x+8y =6 ¥ Question ID : 16794315476

Ane X e aefadT g
V' S g ad
X foger o g
X g w8 &

Q.20 i 3 ; :
TWAR F (x+2) AT (x+3) Prax+h, FFRFE AT a 3 b AW FF & [ Question ID : 16794315482



Ans " a=-19, b=-30,(x—5)
X?*a=-5b=4,(x+1)
X3>a=5b=2(x+2)
X*a=-7,b=—6,(x+1)

Section : Subject Related

A e
A o Sa-Sgeded fle* —e™)+C, § & f(x) FHH T & Question ID : 16794315506

¥ g% 41

Ans 1. s
v tan™' x

X2 cos-1
COS X
X 3 tanx
X% sinx
Q.2 .
I siny + e *0SY —¢ F ar % T (1,7) & Question ID : 16794315503
Ans x 1. siny
X % siny —xcosy
X 3 —xcosy
',4. e
_— f AN W a Emm . - EA W
Q.3 5={(-1,0,1), (2,1,4)). F k F A A orFH T FREY (37X) (3k+2,3,10) § & ¥+
RFaR & Tl & Question ID : 16794315509
Ans , 1. 2
X33
xX*8
Q.4 Fr=fafRd arfee T e F 400 3HeaRt & 3 & Hghed Fawor
e e Question ID : 16794315494
3F srigant & §Ear | 3w Erssiceiuoy
ér FEaT A
0-10 5 50-60 65
10-20 20 60-70 50
20-30 40 70-80 35
30-40 70 80-90 20
40-50 85 90-100 10

ofy o @ & v sgaA 3 35 €, O frae sl gt & afer o & &2
Ans J1. 75%

X2 80%
X3 70%
X+ 65%
e T I = I:Z% andl, = 12"_x dx, & ar Question ID : 16794315507



Ans x1. 11 =212

xz' 12=21-|
x> IL+L,=0
J4' 11 —12=0

Q.6 fX a, b, ¢ uATHF ITEATIF TEAT ¥, AW F a+b+c=16 §, @ abc 3WFaH Fa o
Question ID : 16794315497

Ans X1 a#b#c

X2a#tb=c
v3ia=b=c
X4a=b+c

Q7 zRwdw R & f@IT, n=10andp = 0.6,E(X?) (AT F aX F g@ 3me0h) &

Question ID : 16794315490

Ans X 1. 3g
v 384
X330
X+ 8

Q8 ot a5
7= 3e1 & agor (Mode) #r R Question ID : 16794315493

T 50-60 | 60-70 |70-80 |80-90 |90-100 |100-110 |110-120

mgfea | 8 10 16 14 10 5 2

Ans x1. 76
v 775
x o adda
X * 675
as A B, Cx AT & A A== g Question ID : 16794315491

A: 2,3,7,1,3,23
B: 7,5,9,12,5,3,8
C: 44117234

Feafefea & & T8 97 &1 399 W
Ans J1.
AT, ACTH AR A & Tgers THA

xz'BEﬁrnﬁZWA#agamtw%

X% C @ Aty & ¥ Afger & s &
x“'AmmC%ang#aw%




Q.10

—1)2 _ - )
T f((:2+1))2 dx=tan ' x+ g(x)+k §a gix)= Question ID : 16794315505

Ans

1. A x
x tan E

X* gH u FE

3. 1

xZ+1
4. 1

2(x%+1)

x

aM g e I T .
s e A o oo & Question ID : 16794315492

T 60-62 |63-65 |66-68 |69-71 |72-74
e e (3 20 36 48 50

et 37 & ¥ FF @ 3Rwan g 32
Ans X1 72-74
< 2> 66-68
v 69-71
X * 63-65

Q12 3pgm>1 T e, %G‘}mﬁ:1"‘+2’"+3”‘+~-+n"‘2n(%)m 4 a’rk=| Question ID - 16794315499

Ans J12 ') ¢
X2
X ° frex
X4n

Q.13 f # xeR Tl & T HeIRT o W97 TR 7 w8 @ F(63) =10 @i xeR, x #0.

A L) a1 & Question ID : 16794315502

Ans x120
2. 20
v 3
3. 5
X 3

X" g @ P

Q.14 P=faf@a 2o ¥ v aifge & o
i Question ID : 16794315495

T 0-4 4-6 6-8 8-12 12-18 18-20

ygfea |4 6 8 12 7 2

Ans 1 g5
X275
X339
x*8

Q.15 3x3 w4 @rﬁ!\wag'ia’%‘,lA—AI]=A3+317+4A+3.3ﬂ$t'x=trace(A) A y=14], FF A
& gRol A A Question ID : 16794315508



Ans 1.

Question ID : 16794315501

A 1.
ns x %
2.
2z
3.
vz
4.
x 2

Q.17 3R i=123,.,n T aya03..a,=1 F BT ai>0 FTa (1+a)(1+ap).. (1+a,) F T T

= ¥ Question ID : 16794315500
Ans w1,
X gts
a2 1
X 22
3.
v oon
X4 1
Q.18 TF Feawr A F FoS e F THe A A e F v RNaw sHEgeT |
R Fr Ryw T 3Ry T FER T B o uestion ID : 16794315496
g T Sfa 1 oEgfea & TR
57 30
8-10 40
11-13 50
14-16 60
17-19 70

T I e 30 g g ()
11,8,10,5,7,12,7,17,5,13,9,8,10,15,7,12,6,7,8,11,14,18,6,13,9,10,6,15,13,5 It & shaver: Ate fomar smar
¢t o P & J A Fa AfE orgd TR AT H

Ans o 11290
X< %1200
X %1300
X+ 1390
Q.1

* s f@y =4, (@) = 1, @ im0 & b

Question ID : 16794315504

Ans x1. 1
vz 1
xX32
X422

Q.20 >0, a%a%3a31,a° and a'® AT ITATAF TEAT F AT F FATH A ¢ [




Ans

x1.
x2.
,3.
x4.

N 00 O O

Section : Subject Related

Q.1 k& 7 SwF e e Tefeon #1 g3 4x+6y—1=0 3R 2 x+ky—7 =0 FAGR T@I3t #¥
sfafafes &= &

v ' k=3
X2 k=-2
X3 k=2
X4 k=4

Ans

l Question ID : 16794315498

Question ID : 16794315518

Q2 n>2 3Rk T(1)=1 ¥ BT ERERT T(n) =2T(n-1) +n, TeATHT FT &

Ans x1. 2n_r.I
X22"¢n
J& 2n+1 _n_2
X m1_ o4

Question ID : 16794315517

Q.3 Find the number of integers between 1 and 250, that are divisible by any of the integer 2, 3 and 7.

Ans

X 1170
X 2182
X3 185

ad

Question ID : 16794315515

da

Q.4 10

v 4 179
uﬁ::(g—é) FRER A g & ¢ g & TR &
X3
X222
X4

V' g g s

Ans

Question ID : 16794315514

Q.5 IRV, RAR TF & Tehh AT 77 areafesdr IFX WGV = {f €V : f(—x) = f(x)} aor

V= {f €V:f(-x)=—f(x)} & @& Tl # & #ia o @ ¢

X1

A IRTE L, VFITETE
X2

V, V 1 39-TU1F 74T ¢, afa 1, & 7 Tk IU-FUT &
p

V, V T T 39-TAF g, et V, V FT 39-FAT a1 &

Ans

Question ID : 16794315512




viasty, aamr v, V¥ se-re

Q.6 zfy n FERT F m oiwer I T A vE G F FA G FA_ FIR @ AT
Question ID : 16794315513

SO
x ()
< (2-)
v+

Q.7 & gHeor 2x—y =3 # 4x—y =5 F g e e @, S

Question ID : 16794315519

e X" Ere ar Rigat W ufeeoe e §
v’ o fig W st aa }
X gAY &
X" e g

Q.8 FafafRd FHevT ¥ BTen % TAWT @RT §AC I JFT TIF 1 NAH FAT &2

X1+ X+ x3 5 0; xq4+2x=0; xp—x3=0.

Question ID : 16794315511

Ans x 1. 0
X222
v
xX4+3
Q.9 @=f F A xerR TowEF T @R (@FR) (1,%,0),(0,x21) d4r (0,1,x), R°F ¥

Question ID : 16794315510

Ans o ' {xeR:x # 1}
X% {xeR:x # 0}
X3 {xeR: x = -1}
X% {xeR:x =0}

Q.10
47, . 55, 52-rc, FT AA SHF ST & Question ID : 16794315516

Ans x1. 5103
v?* 52,

X A g S A
x4' 5104

Q.1
Question ID : 16794315526




AEfaeTr Fw T @ & |

AT F [ A F [T Ta =0T FFeT T4

V' wErar § & e T Aqew &
X% it & Reor

X 3 ereg T 3=IROT

X" eafaat a1 SsorE

Ans

Q.12 Recognition, praise and reward as methods to reinforce appropriate behavior is proposed in which of the following
theories?

Ans

« ' Operant conditioning
X 2 Classic conditioning
X % Discovery method of learning

X 4 Trial and error method

Question ID : 16794315522

Q13 mrrerT 7 g3 S0 YR W §4TaT T § |

Ane X1mﬂﬁ*&mm%
é;ﬁwmmmémmmm
3.
gﬂﬁmﬁm%mmm%
4.
%mwmmm

Q14 vz guROT Y F T F IRRT AT ST Fear
= e v fwedt & waw 3R e T

Ans ,1.
AT faevarst arer argat # o wAHg
X ? =of@gat $r v 37T grRon
X7 ofeaat & v s @ufed
X4.
aitenfia faewarst & @y v fferse arg

Question ID : 16794315529

Question ID : 16794315520

Q.15 Which of the following made literacy a community endeavour?

Ans ' National Literacy Mission
X ? Rajiv Gandhi Vidya Mission
X 3 Sarva Siksha Abhyan
X # National Adult Education Programme

Question ID : 16794315521




Q.16 lfz::la::;:lgﬁzeachers to learn and assimilate new teaching skills under controlled conditions is done in which of the l Question ID : 16794315525

Ans X 1 Remedial teaching
V' 2 Micro teaching
X % Team teaching
X * Peer teaching

Q.17 : . : . . LBl .
Devadasi system was prevalent in which part of India? Question ID : 16794315524

Ans X 1. Eastern India
& 2 Northern India
v 3 Southern India
X 4 Western India

Q.18 The changing trends in education reflect which of the following perspectives? .
Question ID : 16794315528

Ans X1.

Community has significant say in education system

x2.

Education has strong philosophical foundations
X % Society is dynamic
J 4.

Education to be meaningful should align with the society

O Frr R e Rwedt # aEhE o

Question ID : 16794315527

[
K o
X wrerdr
v R

Q.20 zfy g7 WEAforh-TEpias Test & Fwdt a1 aRemRg = & F oH & Feg W §
B . 5 Question ID : 16794315523

Fo U & T T sror Reew 3
Are X e afemat ¥ e 3w #Y
X? v of3q & & & TF a1
v’ 35 ga @ aee oed  wa ¥
X faelt & dgaR /@@ Femet




